
                                                                                                 
 

 

     

                 

 

 

            

        

        

10 (a)  7 6 2 5 3 47 21 35y xy x y x y    B2 1.1 

1.1 

B1 for three terms correct  

    [2]     

10 (b)  2 5 3 421 35x y x y  M1 3.1a Equate their terms in 
2 5x y  and 

3 4x y   

   3

5

x

y
  or 0.6 

A1 1.1   

    [2]    

10 (c)       3 5
7 8 8

P
k k

kL k C   
M1 3.3 Seen or implied  

    

     
2 5

3 5
7 2 8 8

P 2L C   

and      
3 4

3 5
7 3 8 8

P 3L C   
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3.4 

 

 

 

Attempt to find the probabilities for 

each case 

 

   So  
2 5 3 5

7 7

3 5 3 5

8 8
P 2 21 7L         

and  
3 4 3 5

7 7

3 5 3 5

8 8
P 3 35 7L       so they are 

equal 

E1 2.1 For both values and a conclusion  

    [3]    


